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Section : General Aptitude and Reasoning

Q.1 gr demmst # siEt 1560 &1 iy vk @ 1 5% @l dEw # 10% § & g wend wia b 37

Ans 110400, 8840

~ 2. 10300, 8940
« 310500, 8740
x 411400, 8740

Question ID : 8401601943
Status : Answered
Chosen Option : 3

T 15623 & & #iF @ Fyraw wEa g v, SEw dune 902/F sy g =

Q.2

Ans 5 g
<26
37
X4 5

Question ID : 8401601942
Status : Answered
Chosen Option : 4

Q.3 280 e=UI FT A, B, C % I g0 Yo faenforg frar STan ¢ 5 A 1 B @ 35 e fea § 3w B

Ans

#cﬂzemm%\mﬁmwmm#

- 32:27:21
<2 21:27:32
X3 27:21:32
x4 27:32:21

Question ID : 8401601944
Status : Answered
Chosen Option : 1




Q.4 150m 3¥T 200m ¥ & $ WA @A W TH-gAT $7 3 30 kmph 3T gEY 40kmph #Fr oy F
gls @ &1 F Forw a7 T, 56 6107 § § UGl I hee TAG H O H SACE?

Ans X1 1Bsec
X2 12sec
3 18sec
<4 14sec

Question ID : 8401601945
Status : Answered
Chosen Option : 3

Q5 ufy ww AR s o 3em Fw WY & wEr § 3R e 2em @ & s § A He e
A ST AT T @ Ao G| S HOT F AN A A
Ans 1. 25em
X2 24cm
X3 27cm
4 26cm
Question ID : 8401601946
Status : Answered
Chosen Option : 1
Q.6
THT ST FT IRoTH &
Ans X 1.

v Rufy S@ T &6 S A WeTH 3R 3E08 & §

X2 AT-wEer At & e fraEr AR after Aet

X 3
i Rufy @ AT 3ehT U e F AT Y &0 § A s a1 agew Alwiat B o §

v 4 FYCTaEAT H AT

Question ID : 8401601949
Status : Answered
Chosen Option : 1

Q.7

=T 7 & 7o gafea goa &1 9o s
AN o1 amefr - XTae waEsEr - 1930

X2 ST 9 -1923

X 3. HISAA ARG - 1927

X 4 SR AfEEee - 1929

Question ID : 8401601947
Status : Answered
Chosen Option : 3




Q8 is required for storage of food and other nutrients and also to survive.
Ans 1. Lysosomes

+ 2. Vacuoles

X 3. Cytoplasm

X 4. Cell Membrane

Question ID : 8401601950
Status : Answered
Chosen Option : 4

Y FERT F T ST OT 9% QaT HEET 7 F 6 87

A X FTRTeRR ¥ ATCR ¥ TUF ganT el o7l Fee
x 2
Tg Fr Yt F Ty F O e e s
X 3.
fafees serwfoe Tamat & wefta seemaacAs AR

o 4
HRE & Tguly garn WfEse ATHel 1 Siea HRNT 1 TefEd fRlT off ATHer T TR # Teng. A1

Question ID : 8401601951
Status : Answered
Chosen Option : 2

Q.10 %@%ﬁﬁgﬁ&mﬂéﬁﬁam%rimﬁﬁwﬁm
e X e Shea da e

X2 TH.EATE. (SBl) SIEw SATW

X 3 Ta I UE L. (HDFC) T8 ot 2eaniy

v 4 FRELARELAE. (ICIC)) Eue asF $ans

Question ID : 8401601948
Status : Answered
Chosen Option : 1

Q11 zfy v AT FT a0 F HOSPITAL F1 JAURUVIN Feag fmm e #, & 53 %2 amer &
HEALTH &1 fohe YoR Feae fmam smeem?

Ans X1 JVNIOJ
X2 JGCNVJ
<3 JIENVJ
« 4 JOINVJ

Question ID : 8401601953
Status : Answered
Chosen Option : 1




Q12 Frafafee de = 07 = T HFT F TTT Fw

TR I et P

=1 =
oK @ B B ©
@ (1) (2) (3) (4)

Question ID : 8401601955
Status : Answered
Chosen Option : 2

Q.13 @:%ﬂ'ﬂﬁﬂmﬁmﬁﬁm&ﬁtzomaﬁwaﬁrmaﬁﬁmm it 75 Tmar AT 10 km

TR T msﬁrzok s gfra e 20 km @EfFer (2101
mﬁaqﬁwqgwa‘%} ﬁ«—%mmﬁmmaw " T

Ans X120 km
« 2 30 km
<3 35 km
<4 25 km

Question ID : 8401601954
Status : Answered
Chosen Option : 2

Q14 p QR SR T T qar#amaﬁrqa#éaeﬁraﬁtwmaégﬁo RART & &=
wrer & da1 ¥ P, R ¥ an¢ dar ¥ g &

ans X1 R
X2 Q
vs T
X4 P

Question ID : 8401601952
Status : Answered
Chosen Option : 4




O Srratafag Aufr # s g9 T A
200, 179, 160, 143, 128, ...
ans 1112
%2 120
X3 110
« 4 115

Question ID : 8401601956
Status : Answered
Chosen Option : 1

Q.16 Choose the option which has the right order to form a grammatically correct sentence.
Ans X 1. Usually the result of an earthquake / a tsunami is a series of extremely long waves /
below or near the ocean floor / caused by a large and sudden displacement of the ocean
/< 2. Below or near the ocean floor / caused by a large and sudden displacement of the
ocean / a tsunami is a series of extremely long waves / usually the result of an earthquake
/< 3. Atsunamiis a series of extremely long waves / usually the result of an earthquake /
below or near the ocean floor / caused by a large and sudden displacement of the ocean
«" 4. Atsunamiis a series of extremely long waves / caused by a large and sudden

displacement of the ocean/ usually the result of an earthquake / below or near the ocean
floor.

Question ID : 8401601959
Status : Answered
Chosen Option : 3

Q.17 Choose the right option that can be substituted for the given phrase:

We have installed a new water plant in our apartment. Inspite of the water treatment, the
water generated is not good enough to drink.

Ans X 1.Enjoyable
< 2. Usable
/< 3. Amicable
" 4. Potable

Question ID : 8401601958
Status : Answered
Chosen Option : 4

Q.18 In the sentence given below, find the right option to replace the underlined part:
I had to give onto my dance classes as my college time was extended.

Ans X 1.give off

5 2. give into
X 3.giveto
« 4. giveup

Question ID : 8401601957
Status : Answered
Chosen Option : 2




Comprehension:
Read the following passage and answer the given questions:
Cartoons suit the way we like information to be presented these days — graphically and in
small chunks — and we are used to seeing in our newspapers and magazines cartoons and
comic strips that take a wry look at modern life or provide a bit of escapism. But recently we
have seen an increase in the number of graphic novels: book-length comics with a single,
continuous narrative. Historically, graphic novels were not popular outside France, Belgium,
Japan and the USA.
SubQuestion No : 19

Q.19 What does the phrase ‘take a wry look at’ in the passage mean?

Ans X 1.have an anxious or worried look at something

" 2. have a humorous or sardonic look at something
/< 3. have a determined look at something

X 4. have a happy or satisfactory look at something

Question ID : 8401601962
Status': Answered
Chosen Option : 3

Comprehension:
Read the following passage and answer the given questions:
Cartoons suit the way we like information to be presented these days — graphically and in
small chunks — and we are used to seeing in our newspapers and magazines cartoons and
comic strips that take a wry look at modern life or provide a bit of escapism. But recently we
have seen an increase in the number of graphic novels: book-length comics with a single,
continuous narrative. Historically, graphic novels were not popular outside France, Belgium,
Japan and the USA.
SubQuestion No : 20

Q.20 According to the author how do we like to get our information?

Ans X 1.Invideo and print format

4 2. In avisual mode and in small portions
25 3.In oral or verbal mode

X 4. Using infographics and orally

Question ID : 8401601961
Status : Answered
Chosen Option : 1

Section : Domain Knowledge

Q1 e T @ieX Se6E @ ¥ TS T 7T 5 e AT 7
Ans X1 Hdcd

X 2. geOHAA

o 3. HTIdA

X4 9ag

Question ID : 8401602037
Status : Answered
Chosen Option : 4




W2 ofr§ @iy waTE & F % FARIE & &
Ans X1 T

2 g

X3 A

X 4 HoddHT

™

Question ID : 8401602013
Status : Answered
Chosen Option : 2

Q3  Name the material of fine wire commonly used in resistance thermometer:

Ans 1. Nickel
X< 2. Stainless Steel
< 3. Tungsten

A4 Aluminum

Question ID : 8401602041
Status : Answered
Chosen Option : 1

Q.4 ang#aga;l?aﬁa;r(pimtmbe)ﬁﬁ?%ﬁm?ﬁvimmm%mm%l
A X1 TR F

X2 A &

v 3 geifelr &

X 4 FIIAT &

Question ID : 8401602014
Status : Answered
Chosen Option : 3

Q5 # B 30 YHR & deadh F geel # FH GAR fFew @ ¥
Ans o 1. LAN

< 2. WAN

23 PAN

<4 MAN

Question ID : 8401602032
Status : Answered
Chosen Option : 1




Q.6 The tuning of PID controller on frequency response of closed loop system is by:

Ans X 1. Using the maximum value of phase

X 2. Using minimum value of phase

X 3. Using the maximum amplitude of response

& 4
Using the open loop gain corresponding to marginal stability

Question ID : 8401602027
Status : Answered
Chosen Option : 2

Q7 Rw av e @ Teaiia wa & 9IE A" @ A (Fee) fhaer &7

2010: MVI A,12H

2012: MVI B, F1H

2014: LXI H, 2013

2017: MOV A, M

2018: MOV A, L
Ans X1 F1H

X2 00H

¥ 3 13H

X4 12H

Question ID : 8401602003
Status : Answered
Chosen Option : 3

U8 i o & gET dFE ¥ T RaeH &1 A

Ans %1 0.6mm

I 1

X 2.0.5mm
X3 2mm
¢ 4 Tmm
Question ID : 8401601966
Status : Answered
Chosen Option : 2
Q9 require external probe power for the active components in the probe.

Ans 1. Active probe

X 2. Voltage Probe

/< 3. Passive Probe

X 4. Power probe

Question ID : 8401601999
Status : Answered
Chosen Option : 2




Q.10 U ER ¢ TSme 35T 3 TR F A9 & e Far s 3
e X0 ReT R

v HERT a8 TR

X3 ZeR TR

X4 T TIE TR

Question ID : 8401602019
Status : Answered
Chosen Option : 2

Q@11 The SI unit of Torque is

A
" X 1. Newton-meters>

« 2. Newton-meters
/< 3. Newton / metars
< 4. Newton

Question ID : 8401601982
Status : Answered
Chosen Option : 1

Q.12 ﬁ%ﬁg?mmop-ampqﬁwsﬁm: uFT &, # £15V H1 F Seear §1 s@ee Seear VO

1kQ

+2V

+3V

+4V

Ans o1 g\
X2 3V
X3 BV
o 4 gV

Question ID : 8401601995
Status : Answered
Chosen Option : 1




O e 1 g 3R ¥ & @ AT B

Ans B e
v e g (Feuise), 9ikar =X (9w )
X2 G Wige, FRATHAT =T (SrEnfAer dfieae)
x o TAder fog (Fedise), SrEvEar =T (dEnfHer 3Rve)
X 4 g Tige, Siar 9T (e IfwEa)
Question ID : 8401602025
Status : Answered
Chosen Option : 1
Q.14 is used for speed measurement.
Ans  X1. RTD
« 2. Stroboscope
X3 LVDT
X 4. Thermistor
Question ID : 8401602009
Status : Answered
Chosen Option : 3
Q15 wWhich of the following is not a type of sign board?
Ans 1. Warning Sign
X 2. Danger Sign
X 3. Emergency Sign
« 4 Decorative Sign
Question ID : 8401601963
Status : Answered
Chosen Option : 4
Q16 s % faw, 3R g8 e el $ sEgwar gt § ar FT 3TIRET R AT #
Ans  X1. SMPS
X2 fesamrdy
X3 s
« 4 UPS

Question ID : 8401601989
Status : Answered
Chosen Option : 4




@17 YWhich of the following is not required to calculate tap drill size?
Ans 1. Speed of tap drill

X 2. Depth / Pitch

X 3. Minor dia.

X 4. Major dia.

Question ID : 8401601967
Status : Answered
Chosen Option : 2

Q.18 gfy 'M' 7= @ &, V' 9a1g 397 ¥ 3 ‘¢’ wafae 39T § O "9 wew o 39 F S o ey 32
Ans 1M = vic

X2 M=vs+c

X3 M = clv

x4 s

Question ID : 8401602015
Status : Answered
Chosen Option : 2

Q.19 T FEET YR F SR 150 0 &1 0.2 0 5w ® SiseT et F s9anT B S g
wﬁaﬁmﬁﬁqWWZOOpA%|aﬂmﬁmﬁmﬁ$ﬁvqﬁwﬁﬂm
=ET

Ans X1 26.66 mA
X2 26.66 pA
v 3.150.2 mA
X 41502 mA

Question ID : 8401601981
Status : Answered
Chosen Option : 4

Q20 ytx afemaw YAE F G 200 C ¥, o Heaa & aaEE g

Ans X1 282 k
<2 294 k
3 293 k
X 4300 k

Question ID : 8401602022
Status : Answered
Chosen Option : 2




Q21 3fFer ¥ aeEg fow F T F #iF @ e B2
1) SHEFT 39T ;ﬂzﬁﬁmmg
2) THH 39T Fr ar T F T Far =T §
m

Question ID : 8401601976
Status : Answered
Chosen Option : 4

Q.22 The process of powering ON the computer and starting the operating system is called

Ans & 1. Booting
X 2. Power up
< 3. Coating
« 4. Shooting

Question ID : 8401602001
Status : Answered
Chosen Option : 2

Q2 The formula used in dead weight tester is
Ans X 1. Force = Displacement * Area
X 2. Pressure = Displacement * Area

# 3. Force = Pressure / Area

+ 4 Pressure = Force / Area

Question ID : 8401602012
Status : Answered
Chosen Option : 4

Quaﬁﬂﬂ?#ﬁvaﬁa‘mﬂmﬁmraﬁﬁﬁmﬁraﬁ?ﬂ?

Ans X1~|BA|=
X2 |BA|=05
3| BA]=1
X4 |BA|=2

Question ID : 8401601993
Status : Answered
Chosen Option : 1




Q25 gy Rrewes s F o0, 3F @ foseanT F Ay # Ser e g

Ans X1 - FH

w2 e

X 3. AT &

< 4 ol wH

Question ID : 8401601988
Status : Answered
Chosen Option : 2

Q26 zhyurge AmATr #, THAT Y F1 e @ & AT g gl

A ot Y Sterd
v 2 g1 fr Feg
X3 gfr & AaaS
X4 93T & &rTher

Question ID : 8401602021
Status : Answered
Chosen Option : 3

Q27 The programming language used with PLC is

Ans 1. Ladder Programming
X 2. Java Programming
X 3. Python Programming
X 4. C Programming

Question ID : 8401602028
Status : Answered
Chosen Option : 1

Q.28 In PID controller, the correction is applied based on \ and terms.

Ans 1. Proportional, Integral, Derivative

X 2. Proportional, Integral, Device
# 3. Programmable, Integral, Derivative
« 4. Programmable, Integral, Device

Question ID : 8401602026
Status : Answered
Chosen Option : 4




Q.29 DC FEN (Ewner) F se9T emf iy ¥ 3TIE F FAGIE EA

A X1 Freean, oifa
v 2 Hf#aE, o
X3 TEETg, faETIe
X 4 greedn, Rruaa

Question ID : 8401602008
Status : Answered
Chosen Option : 1

@30 For soldering. fluxes are made up of
Ans 1. Sulphuric acid

« 2. Hydrochloric acid
« 3. Hypochlorous Acid

& 4. Nitric Acid

Question ID : 8401601970
Status : Answered
Chosen Option : 1

Q.31 Which physical parameters can be measured by using Circular & Strip Charts?
Ans X 1. Flow & weight

X 2. Mass & Volume
« 3. Temperature & Pressure

< 4 Area & Flow

Question ID : 8401602040
Status : Answered
Chosen Option : 2

¥ R e W e T gara femr = B
Ans X1 F = |+B sing

X2 F = |+L«B cos8

X3 F = g+v+B cos#8

w4 F |«L+B sind

Question ID : 8401601971
Status : Answered
Chosen Option : 2




@33 YWhat pH value maintained for feed water?

Ans X' 1. Zero
x27
X 3. Acidic
« 4 Alkaline

Question ID : 8401602024
Status : Answered
Chosen Option : 1

Q.34 RLC 4ot 9ftgy &, Weca 20 mH &, arfiar 200pF § 3ilt iy 500 &, Rega wee & R
¥ 5 9wy AC Sieear @ 7 8T § e s 25V 3 amgfen 50 Hz ¥

Ans 1. 0.49A
<2 4A
<3 100A
<4 0.01A

Question ID : 8401601975
Status : Answered
Chosen Option : 3
Q.35

What does Bernoulli’s Law apply to?
Ans X 1. Compressible Fluids

« 2. Non-Compressible Fluids
# 3. Viscous Fluids

< 4. Rotational Fluids

Question ID : 8401602039
Status : Answered
Chosen Option : 1

Q.36 Which is not a Type of Thermocouple below?
Ans o1 K

W2 A

X3 C

xXaJ

Question ID : 8401602042
Status : Answered
Chosen Option : 2




Q37 In SCADA. is device that issues commands to
Ans 1. MTU, RTUs

<2 RTUs, MTU

<3 PLC, MTU

< 4 DCS,RTUs

Question ID : 8401602034
Status : Answered
Chosen Option : 4

@38 Tdentify the problem in this motor control PLC diagram:

Start Switch ~ Stop Switch Motor Run

— | 1
—

Motor Run

Ans 1. Stop Contact

# 2. Start Contact
< 3. Coil

« 4. Seal in contact

Question ID : 8401602030
Status : Answered
Chosen Option : 1

V¥ gty AT F gEE U T AT 21 B

e . Paege e # o aadE i Tt Rt
X2 Tege SRR & wre aRede Al e SR
x 2 foega aiftar # arer 9faae s oifs sfowe
v+ iage sy # ww aftade Sl wite Rt

Question ID : 8401602007
Status : Answered
Chosen Option : 4




Q40 1 PMMC the deflection is directly proportional to
Ans 1. Current passing through the meter
X 2. Voltage across the meter

X 3. Power factor of the meter

X 4. Power in the meter

Question ID : 8401601985
Status : Answered
Chosen Option : 3

M afewTw A ok e e & @9 ey -

Ans o Ra:(6—492]*5
9

(Ra —492) +5
9

(C +492)*5

-

_ (Ra+492)+5
9

V2 C =

X3 Ra

x4

Question ID : 8401602020
Status : Answered
Chosen Option: 3

2 oiga zgw & #F ufgfEda =
v gE, e
X2 faEerde, uanr
X3 o, e

x4 T, I

Question ID : 8401602011
Status : Answered
Chosen Option : 1

Q.43 T T Fe # AR A & B, v g W A & e dom ¥ ik 39 dmisec §1 2 om Ty
arer Rig 9T Fag 1 3T Hl

Ans < 1.8 m/sec
X2 32 misec
+ 3.16 misec

X 4.4 misec

Question ID : 8401602036
Status : Answered
Chosen Option : 1




Q44 rifs o R EET F T SR A e R e A T R w T ¥

Ans
X 1. ITLEAT I ST
X2 aifgefer fe=e=
X3 fear
v+ Tfs ganfgar
Question ID : 8401602004
Status : Answered
Chosen Option : 3
Q.45 g g & H FaTE Ry & 2 ¥, & v 9 e (Eioeies aee) ST ® § a7 gl
2l
Ans X 1. 3= m
X 2. O 98
X 3. AY JAE
v 4 qarg Ted
Question ID : 8401602038
Status : Answered
Chosen Option : 1
Q.46

HART is a protocol used for
Ans X 1. Design of the system

X 2. Pressure measurement

+ 3. Sending and receiving digital information

< 4. temperature measurement

Question ID : 8401602031
Status : Answered
Chosen Option : 3

Q.47 gﬁmgﬁmﬁﬁmﬁtﬁaﬁsf@ﬁ@r%ﬁ g = & AR srfet @
Frar ¥

Ans x 1. ﬂﬁ;?T, Eﬁm
X2 T, ST

v 5 2T, Sew
x 4 fafFger, sew

_#

Question ID : 8401601986
Status : Answered
Chosen Option : 4




Q48 fpfwia feifw e & do fgem ik wmmom & w9 & S e i
Ans 1. 2’ iTIEﬁRT

K2 2, qonfAEy

v 3 3, aeiEx

X4 3, aRunfAT

Question ID : 8401601990
Status : Answered
Chosen Option : 2

Q.49 TE HI3eE AW Ad
e v Sraftes

X2 s

X 3. ﬁET

x4 whe

Question ID : 8401602002
Status : Answered

Chosen Option : 4

@50 The standard deviation for the given data 34, 46, 58,63, 77 is:
N =

X2 4100

X3.4/230

¢ 4 4[222

Question ID : 8401602005
Status : Answered
Chosen Option : 3

Q.51 is the type of the Ohmmeter.
Ans X 1. Open Ohmmeter

X 2. Closed Ohmmeter
X 3. Sequential Ohmmeter

+ 4 Shunt Ohmmeter

Question ID : 8401601983
Status : Answered
Chosen Option : 4




Q52 The ideal characteristics of Op-amp is
Ans 1. Input Resistance = o, Gain = %, Output Resistance =
X 2. Input Resistance = 0, Gain = 0. Output Resistance =0

+ 3. Input Resistance = o, Gain = oo, Output Resistance =0

X 4. Input Resistance = 0, Gain = 0, Output Resistance = x

Question ID : 8401601994
Status : Answered
Chosen Option : 3

@53 11 DCS, the element LCU means .

Ans X1, Logical Computer Unit
X 2. Logical Control Unit

+ 3. Local Control Unit
« 4. Local Computer Unit

Question ID : 8401602035
Status : Answered
Chosen Option : 2

Q54 The rate of mass flow is calculated as:
Ans X 1. Density * velocity

X 2. Volume * velocity * area of cross section
« 3. Density * velocity * area of cross section

X 4. velocity * area of cross section

Question ID : 8401602017
Status : Answered
Chosen Option : 1

Q.55 In RC phase shift oscillator, phase shift is provided by an amplifier.
Ans x 1. 450

X2 90°
« 3. 180°
X< 4 360°

Question ID : 8401601992
Status : Answered
Chosen Option : 2




¥ fo & e v ARwy § gAEgen aiftar e 82

———100pF ——100pF —— 100 pF

Ans X110 WF
x 2100 pF
X3 400 pF
v 4 300 pF

Question ID : 8401601973
Status : Answered
Chosen Option: 4

Q.57 s Foewswd aeT F Bw, R e A Iwm i A fmem Mg waww =
T #

Ans X ﬁlﬁ'

X2 Zma
X3 FR

o 4 ETE!'W

Question ID : 8401602023
Status : Answered
Chosen Option : 1

Q.58 ﬁﬁ;&;ﬁﬁﬁiﬁ?ﬁqﬁmﬁ?wmmm)mmmm%lmwmﬁ
o

X 1. ZETAT ()= farstelr $aqe / fsrel 3mseqe <100

Ans

X 2. TETAT (n) = drecdr $a9e / deedr 33eqe « 100
X 3. TEAT (n) = 9T H13TYE / 9T T * 100

v 4 8T (n) = TSTel 3m3eye / fastelr gaqe « 100

Question ID : 8401601979
Status : Answered
Chosen Option : 1




Q.59 Which of the following instrument will be used to measure the alternating current?

Ans 1. Permanent Magnet type ammeter
X 2. Moving Iron voltmeter
+ 3. Moving Iron (attraction type) ammeter
# 4. Induction type Voltmeter
Question ID : 8401601984
Status : Answered
Chosen Option : 2
Q.60 is widely used variable area flow meter.
Ans X 1. Stroboscope
X 2. Pitot tube
X3 IVDT
+ 4 Rotameter
Question ID : 8401602016
Status : Answered
Chosen Option : 4
@61 20 bar equals to Pascal.
Ans
¥ 2x10°Pa
2 2. 1000 Pa
X3 10° Pa
X 4. 200 Pa
Question ID : 8401602010
Status : Answered
Chosen Option : 4
Q.62

Ans

Which of the following is not a type of hand tool?

A 1. Hammerad Tools
# 2. Wrenches
X 3. Striking Tools

« 4. Safety Shoes

Question ID : 8401601964
Status : Answered
Chosen Option : 4




Q.63 The transistor can be used as amplifier only if emitter base is in

bias and base-collector is in
bias respectively.

Ans X 1. Forward, Forward
< 2. Reverse, Reverse
+ 3. Forward, Reverse
< 4. Reverse, Forward

Question ID : 8401601991
Status : Answered
Chosen Option : 3
Q.64

Which of the following is not an application of DC motors?
Ans 1. Cranes

X 2. Elevators

+ 3. Pneumatic Grinder

X 4. Hair Dryer

Question ID : 8401601977
Status : Answered
Chosen Option : 4

Q.65 IVDT will act as
Ans

if physical quantities such as force, tension or pressure to'be measured.
X 1. Primary transducer

X 2. Primary transducer and Secondary transducer

# 3. Not act as a transducer

« 4. Secondary transducer

Question ID : 8401602006
Status : Answered
Chosen Option : 1

Q.66 afy v oIt el TRl Suen A0 A AT & wrer sier ST § A
JUTER (TTIHT) 1 3T BFar =T #

X 1. AC Freear
X2 DC o

« 3. DC dreear
X4 AC oI

 FR & B

Ans

Question ID : 8401601980
Status : Answered
Chosen Option : 2




Q.67 The distance travelled by sound in 4 sec (in kM) is if frequency is 8kHz and wavelength is 50 cm.
Ans 2116

X2 4

X 3. 200

241600

Question ID : 8401601972
Status : Answered
Chosen Option : 4

Q68 Tn U tube manometer, the pressure is proportional to
Ans X1, Acceleration due to gravity

+ 2. Height difference

X 3. Density of manometer liquid

#< 4 Width difference

Question ID : 8401602018
Status : Answered
Chosen Option: 1

Q.69 m;rmzﬁmﬁmtﬁv,mumo.se mA § 3T 3muR amr 0.04mA Bl o FT AT
Fm ¥

Ans x 1. UU 4

2 0.96

X3 0.4

X4 1

Question ID : 8401601987
Status : Answered
Chosen Option : 4

Q.70

InPLC, —{ ) is the symbol for
Ans 1. Output Coil

X 2. NC input

X 3. NO input

X 4. Input coil
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Q.71

OR 3T &I Ife s &5=is Y (3M3eYE) = J
Ans X1 Y=AB

X2 Y= A>B

¥ 3 Y=A+B

X4 Y=A<B
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Q72 2 &r s R F 9@ FE (011011), & (101111), Te= & &g TROTH feaar 22
Ans % 1.(010101),

X2 (110100),

X3 (010111),
~+ (010100),
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Q.73 20C & AU TERT A W 400) FT S F, ArzEn v fswEiar &1 am=eusar ¥
Ans X1 8000V

x 2. 200V

<3 0.05V

4 20V
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Q74 (98.75) ,, o HE: SIHTI, erendy, StEAMLTd HEAT JUTSN F FROT AT §7
Ans X 1.(0100011.11),, (142.6)g, (62.C)g

+ 2 (1100010.11)5, (142.6)g, (62.C)¢5

x 3 (0100011.11),, (242.8)g, (62.12)45

X4 (1100010.11),, (242.6)g, (62.C)15
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Q.75 wﬁwﬁa%mﬁﬁﬁrmsm%&ﬁreﬁ;ﬂwﬁmzoo%\ fdmr o vl
YT 40A g, ST TSP A uafgg emr &

Ans 1. 1BA
<2 10mA
+ 3 10A
X4 25mA
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V7 reafEE A F e A9 F Y w9 F =S4 20
Ans X1-ﬁ nﬁ

X2 ATTH YA
v 3 &dr

X 4 TCQLET
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Q.77 Deflection sensitivity of a CRT is the defection of screen per unit deflection
Ans 1. Voltage

X 2. Current

< 3. Energy

< 4. Power
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Q.78 1n fiber optic cables, Communication of data takes place in the form of
Ans X 1. voltage
X 2. current
« 3. light

#< 4. sound
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Q79 The formula for calculating inductive reactance (Xj ) is
AnS X1 2w [[xC ]

oy, L

e FeL

1

3, —

2ell+f+C

wa 2xllxfxl

<
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Q80 «Ipside the conductor, the charge densityis
Ans X 1. Infinity

X 2. Not defined

s3 0

<4l
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